
Settings:
∆ = 4

Root node chosen to have maximum degree.
Only non-positive entries are printed.
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Level-2 down-degrees Π(G) Π(G− x) Π(G− x−Nx) Difference Negative?

3.000 2.000 1.000 .000

Level-2 down-degrees Π(G) Π(G− x) Π(G− x−Nx) Difference Negative?

5.000 4.000 1.000 .000

Level-2 down-degrees Π(G) Π(G− x) Π(G− x−Nx) Difference Negative?

0 7.000 5.000 2.000 .000

Level-2 down-degrees Π(G) Π(G− x) Π(G− x−Nx) Difference Negative?

9.000 8.000 1.000 .000

Level-2 down-degrees Π(G) Π(G− x) Π(G− x−Nx) Difference Negative?

0 11.000 9.000 2.000 .000
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Level-2 down-degrees Π(G) Π(G− x) Π(G− x−Nx) Difference Negative?

0, 0 15.000 11.000 4.000 .000

Level-2 down-degrees Π(G) Π(G− x) Π(G− x−Nx) Difference Negative?

17.000 16.000 1.000 .000

Level-2 down-degrees Π(G) Π(G− x) Π(G− x−Nx) Difference Negative?

0 19.000 17.000 2.000 .000

Level-2 down-degrees Π(G) Π(G− x) Π(G− x−Nx) Difference Negative?

0, 0 23.000 19.000 4.000 .000

Level-2 down-degrees Π(G) Π(G− x) Π(G− x−Nx) Difference Negative?

0, 0, 0 31.000 23.000 8.000 .000
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